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4.5 
 
18. Evaluate the indefinite integral cos4 θ( )sin∫ θ( )dθ . 

Let u = cosθ , so du = −sinθdθ . The integral becomes − u4∫ du = −u5

5
+C . Subbing back 

in gives the final answer −cos
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46. Evaluate the definite integral x4 sin xdx
−π /3
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Since this is an odd function ( sin x ) multiplied by an even function ( x4 ), making it odd, 

over a symmetric interval, x4 sin xdx
−π /3

π /3

∫ = 0  

 
 
 
 
 
5.1 



5.1 
 
 
22. Sketch the region enclosed by the given curves and find its area. 
 
Curves: y = x3 , y = x . 
 
Curves intersect when x3 = x . Thus, x3 − x = 0    ⇒     x(x2 −1) = 0    ⇒    x(x −1)(x +1) = 0 . 
The curves intersect at x = 0,  x = ±1 . 
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